3.
a.
If m is the systematic risk portion of return, then:



m = (GNPΔ%GNP + (rΔInterest rates



m = 2.04(2.6% – 1.8%) – 1.15(4.8% – 4.3%)



m = 1.06%


b.
The unsystematic is the return that occurs because of a firm specific factor such as the increase in market share. If ( is the unsystematic risk portion of the return, then:



( = 0.45(27% – 23%)



( = 1.80%


c.
The total return is the expected return, plus the two components of unexpected return: the systematic risk portion of return and the unsystematic portion. So, the total return of the stock is:



R = 
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 + m + (


R = 10.50% + 1.06% + 1.80%



R = 13.36% 
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